
TM Accessories Clamps

38. Desoutter Inc 24415 Halstead Road Farmington Hills Michigan 48335 USA telephone +1 248 476 5358 facsimile +1 248 476 3819

Ø1.57"

2.48" 2.08"

3.93"

6.1"

2.48" 2.08"
Ø1.57"

1.53"

3.74"2.72"

2.48"

2.12"
Ø0.32"

Ø1.57"3.74" CRS

2.
24

" 
C

RS

3.
03

"4.
80

"

0.69"

2.75"

4.52" 3.18"

0.19"

1.10"

Ø1.57"

2.48" 2.08"

1.77"

Ø1.57"

2.77"2.72"

2.
59

"

0.25" 3.74" CRS

Ø1.57"

Ø0.34"

4.60"

3.01"

2.
24

" 
C

RS

3.
03

"

Bar Clamp

Back plate 
Part No. 82372

4 holes
tapped 
M8 x 1.25

2.
79

"

1.
69

"

0.74"

0.25"

1.
85

" 
C

RS

2.
63

"Ø0.25"

4.60"

3.74" CRS

3.01"

Rectangular bar 
3" x    " 
(76.2mm x 16mm)
is available in the
following lengths –
1m Part No. 64562
2m Part No. 64572

5
8/

Parallel Clamp
Part No. 61832

Right Angle Clamp
Part No. 61822

Swivel Clamp
Part No. 61802

Swan Neck Clamp
Part No. 61862

Base Clamp
Part No. 61842

Bar Clamp
Part No. 61852

Mounting Tube

TUBING LENGTH TUBING Ø PART NO.
ins ins

9 39702
12 1.574/ 39722
18 1.575 39732
24 39742
30 39752

AFD205, AFDE200, AFTE270

Tubing is of the same outside diameter as the auto
feed unit and is available in the following standard
lengths.

Lou Zampini
New Stamp



Right Angle Clamp
Part No. 76342

1.48" Ø2.235"
2.237"

3.54" 3.54" Ø2.235"
2.232"

3.66"

6.77"5.01"

TMAccessories Clamps

39. Desoutter Inc 24415 Halstead Road Farmington Hills Michigan 48335 USA telephone +1 248 476 5358 facsimile +1 248 476 3819

AFD415, AFDE400/410, AFTE470/480

TUBING LENGTH TUBING Ø PART NO.
ins ins

9 9452
12 2.225 9462
18 2.233 9472
24 9482
30 9492

Parallel Clamp
Part No. 76352

3.54" Ø2.235"
2.232"

3.66"

6.77"

1.48"
Ø2.235"
2.237"

3.54" 3.54" Ø2.235"
2.232"

3.76"

6.77"5.29"

Swivel Clamp
Part No. 76332

Ø2.235"
2.237"

4.02" .2
4"

.39"
2.13" CRS

2.91"

.59"

2.76"

Ø.35" .24" 2.31"

4.53"
3.74" CRS

3.01"

Narrow Bar Clamp
Part No. 76292

Base Clamp
Part No. 76302

Ø2.235"
2.237"

3.78"

.39" .24"
.59"

2.76"

3.7"

3.01"
4.53" CRS

5.47"

2.31"

.24"

Ø.35"

3.66"

Adjustable Bar Clamp
Part No. 97042

Bar Clamp

Locking arm

Dimensions of 
Adjustable Clamp
as per Bar Clamp
(Part No. 76272)

Bar Clamp
Part No. 76272

1.48" Ø2.235"
2.237"

3.54" 3.54"

6"

8.98"

Mounting Tube

3.62"

1.48" .81"

.24"

.59"

.39"
.24"

5.90"

.39"

3.15" CRS Ø.35"

3.54"

Ø2.235"
2.237"

4.
09

"

5.
04

"

Tubing is of the same outside diameter as the auto
feed unit and is available in the following standard
lengths.

Bar Clamp

4 holes
tapped M8 x 1.25

Back plate Part No. 77782
for use with Bar clamp
Back plate Part No. 77792
for use with Narrow Bar Clamp

Rectangular bar
3" x    " 
(76.2mm x 16mm)
is available in the 
following lengths -
1m Part No. 64562
2m Part No. 64572

5
8/



TM Accessories Clamps

40. Desoutter Inc 24415 Halstead Road Farmington Hills Michigan 48335 USA telephone +1 248 476 5358 facsimile +1 248 476 3819

TUBING LENGTH TUBING Ø PART NO.
ins ins

24 32562
36 3.069 32572
48 32582

Tubing is of the same outside diameter as the auto
feed unit and is available in the following standard
lengths.

4.48"

8.3"

5" CRS

5" CRS 5.98"

5.98"0.5"

Ø0.41"

Ø3.073"
3.07"

0.9"

Base Clamp
Part No. 32542

AFD60, AFT60, AFDE600/610/620

Ø3.073"
3.07"

4.48"

4.48"

7.99"

12"

Parallel Clamp
Part No. 32492

Ø3.073"
3.07"

4.01" 4.4"

6.53"

Ø
3.073"
3.069"

8.5"

4.48"

4.56"

Swivel Clamp
Part No. 32502

2.99"

0.82"

5"

5"

6.614.92"

0.25"

5.59"
CRS

3.79" CRSØ0.34"

Ø3.073"
3.07"

Bar Clamp

Back Plate
Part No. 82382

4 holes
tapped M8 x 1.25

Bar Clamp
Part No. 32532

Ø3.073"
3.07"

4.01"

6.53"

Ø
3.080"
3.100"

8.5"

4.48"

4.56"

Right Angle Clamp
Part No. 32522

Mounting Tube



TMAccessories Clamps

37. Desoutter Inc 24415 Halstead Road Farmington Hills Michigan 48335 USA telephone +1 248 476 5358 facsimile +1 248 476 3819

• Extensive range of mounting clamps to allow

any orientation of the tool

• All clamps manufactured from aluminium

mounting clamps



TM Accessories Clamps

40. Desoutter Inc 24415 Halstead Road Farmington Hills Michigan 48335 USA telephone +1 248 476 5358 facsimile +1 248 476 3819

TUBING LENGTH TUBING Ø PART NO.
ins ins

24 32562
36 3.069 32572
48 32582

Tubing is of the same outside diameter as the auto
feed unit and is available in the following standard
lengths.

4.48"

8.3"

5" CRS

5" CRS 5.98"

5.98"0.5"

Ø0.41"

Ø3.073"
3.07"

0.9"

Base Clamp
Part No. 32542

AFD60, AFT60, AFDE600/610/620

Ø3.073"
3.07"

4.48"

4.48"

7.99"

12"

Parallel Clamp
Part No. 32492

Ø3.073"
3.07"

4.01" 4.4"

6.53"

Ø
3.073"
3.069"

8.5"

4.48"

4.56"

Swivel Clamp
Part No. 32502

2.99"

0.82"

5"

5"

6.614.92"

0.25"

5.59"
CRS

3.79" CRSØ0.34"

Ø3.073"
3.07"

Bar Clamp

Back Plate
Part No. 82382

4 holes
tapped M8 x 1.25

Bar Clamp
Part No. 32532

Ø3.073"
3.07"

4.01"

6.53"

Ø
3.080"
3.100"

8.5"

4.48"

4.56"

Right Angle Clamp
Part No. 32522

Mounting Tube



TMAir Powered Swing Clamp

41. Desoutter Inc 24415 Halstead Road Farmington Hills Michigan 48335 USA telephone +1 248 476 5358 facsimile +1 248 476 3819

 1
.3

0"

Direction of movement for
R.H. clamp

2.
88

"
2.

63
"

4.
50

"

2.19"

4.02"

1.75"
Direction of movement for
L.H. clamp

2.51"

3 holes 0.25" dia.
for socket head 
cap screw

0.25"

0.
75

"
1.

00
"

G1/8 G1/8

2.24"

Clearance
2.00" max
0.96" min

0.19" approx
clamp travel

Dimensions

Performance Specifications

Air powered swing clamp with 90° rotation in
either left hand or right hand direction followed by
a clamping action.

Swing Clamp Left Hand – Part No. 98592
Swing Clamp Right Hand – Part No. 97362

Maximum Clamping Load (90 psi) 250lbs
Minimum Clamping Load (60 psi) 83lbs
Weight 3.5lbs




